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100cm 5cm

e E — INFRR 4878 Eh 0.035 0.032

7 ;iﬁJZ’fae,:g/ VR 485H Eh 0.038 0.035

HE 5 = /NER 4548 Eh 0.058 0.070

7 zi}ﬂigﬁ E/NERR 48128 BEh 0.054 0.064

EL D DA Y 4812H EN 0.046 0.056

7 -iﬁJZEaﬁ-l:/ VEERR 4H4H BEh 0.039 0.039

[ 5 /N 4H12H Eh 0.038 0.038

1 m/J\z'g 4848 BEh 0.040 0.043

RIE/NFEKR 4858 Eh 0.033 0.034

axa/NFER 4F5H BN 0.035 0.039

%E@/j\;&fx 484H HEJ’L 0.032 0.034

INFRR 48108 Eh 0.063 0.066

R — PFR 4H128 BEn 0.060 0.055

FEI R — PR 4848 BEh 0.049 0.057

TR = PP 484H 51 0.055 0.057

TRk £ R 483H Eh 0.043 0.041

DY FaL N 4812H B 0.029 0.029

RS NG 22 4H5H B 0.057 0.059

F'_JLLEF.-:1% = % 4A3H EE;’L 0.04 0.03

piEJLLEEE 4H3H BEh 0.06 0.07

Figge,fﬁ%’é = 4H3H Eh 0.05 0.04

T3 N R A 4H3H BEh 0.07 0.06

UoBRER 4838 BEn 0.04 0.05

RERE 4838 BEh 0.07 0.06

BEERE 4H4H Bh 0.05 0.05

BILEE 4838 BEh 0.04 0.05

LHOREEE KIE 45 3H 51 0.05 0.05

ERE /A TRE 4H3H Bh 0.05 0.04

1 HDAREEE BEEE 4A3H BEh 0.05 0.05

FEPSLEE 4838 Eh 0.06 0.05

BRLESERFLL 4848 BEh 0.05 0.05

: Kéﬁrgcdht?ﬁ';f” 4 JE 3H Hﬁn 0.09 0.08

2x)—Fx #H A 4H4H 51 0.06 0.07

| EROEE 4548 s 0.07 0.08

a7 Y E 4848 BEh 0.06 0.05

AR A AR T R 4H4R BEh 0.06 0.05
cEIHYHE

J{j*;’%}fﬁﬁf. 4868 En 0.05 0.06

EEDOMNEIHFHEE 4848 Bh 0.04 0.05

XD OSHEE 4A3H Eh 0.04 0.05
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100cm 5cm
s — /NER 71H4H =Y 0.035 0.032
S —INER 71H4H zY 0.038 0.035
R 2 = N 1848 Y 0.058 0.070
7 zﬂﬂi%ﬁl VR 7H6H Bh 0.054 0.064
EEDE FANINE L5 1H7H EN 0.046 0.056
e E E/DFER 7A3H BEh 0.039 0.039
rﬁ}ﬁ Tu’a]/lfffx 7H6H N 0.038 0.038
AN 7848 =Y 0.040 0.043
RIEINER 7838 BEh 0.033 0.034
EELINER 7838 BEn 0.035 0.039
%E@/j\;&fi 783H HEJ’L 0.032 0.034
INFRR 7H6H Eh 0.063 0.066
j ;g’%— G5 7B78 L0 0.060 0.055
Rk = i 7858 BEh 0.049 0.057
RS = PR 1H6H Y 0.055 0.057
] si}ﬁ% R 783H =Y 0.043 0.041
L DY 1H7H BN 0.029 0.029
] sﬂﬂi%ﬁﬂf?’x 783H =Y 0.057 0.059
Figgﬁa 5;_ = 7H3H Ehn 0.04 0.03
I EHRE = 7858 BEh 0.06 0.07
F'_JL:L'%EE.%E% 7; 68 %hﬂﬂjfzéf:;u 0.05 0.04
M H/VRE = 7H3H =h 0.07 0.06
UoBRER 7H3H =N 0.04 0.05
RERE 783H BEh 0.07 0.06
rﬁ}ﬁ%f%ﬁfﬁ. 7H48 %U 0.05 0.05
LR EE 7H3H8 BBh 0.04 0.05
LHOREEE KIE 7H3H L0 0.05 0.05
ERE /A TRE 1H3H Bh 0.05 0.04
1 HDAREEE BEEE 7H3H Eh 0.05 0.05
FEPSLEE 7H3H 0 0.06 0.05
BRLESERFLL 7848 =1l 0.05 0.05
SR SLRE 1H3H lEh 0.09 0.08
B T AT ) X o5
B = ] ]
: R:vg*jﬁﬁﬂﬁ 7848 fEn 0.06 0.05
mﬁi § E“:n is%id ]E '='E=|
l;};%sf‘;éébgj’é. 7848 =V 0.05 0.06
TEEDLMNNESHEER 7848 =l 0.04 0.05
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___ERESEE 71H48 =Y . 0.05 0.05
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100cm 5cm
e E — INFRR 10H5H = 0.036 0.031
FRlR e — IR 10H5H iEn 0.033 0.031
FEILEE = /N 1082H FEU 0.048 0.052
Rk 3 /DR 10H5H iEn 0.055 0.070
] ;iﬁjﬁﬁfv VEERR 10H12H E—EU 0.062 0.054
FEdE £/ R 10H3H =Y 0.037 0.039
B S NER 108138 58] 0.050 0.060
WL/ 10813H 551 0.044 0.041
REIENER 10H3H Eh 0.037 0.036
EELINER 108108 BEn 0.030 0.031
EREINER 1082H =) 0.030 0.030
B /DN ER 10A11H =0 0.060 0.060
TR E — PR 1083H & 0.056 0.062
Rk = i 1084H =1 0.051 0.053
L EI N 10858 & 0.041 0.042
DRSS 10H2H =) 0.039 0.036
LA 10H11H =) 0.031 0.031
G5 10H6H =) 0.054 0.049
Mils IR R 10828 =) 0.04 0.04
Th AL 26 P R & B 108138 INFR 0.05 0.05
MilEhira R 10868 D) 0.03 0.03
AL 7k & B 10828 = 0.06 0.06
Vo BRER 10H2H = 0.04 0.04
RERE 10H2H =) 0.07 0.08
BEERE 1083H fiEn 0.05 0.05
BILEEE 10H2H £Y 0.05 0.05
L ADRRER RE 105 2H =l 0.05 0.06
EEBNANIREE 10528 ZY 0.05 0.05
{FH DK EER 10828 =) 0.05 0.05
FEPSLEEE 10H2H D) 0.05 0.05
BRLESERFLL 10A3H Bh 0.04 0.04
KIBPSLESE 10H2H £Y 0.09 0.08
Zz)—Fx FEEKA 10H3H Eh 0.08 0.07
EENHEE 10H3H BEh 0.06 0.06
: R:v’]*ﬂ}aqb%ﬁl 1083H BEh 0.06 0.06
Ej/ § EE BE%H]E £
l;tt;,siézb?é 10H3H =) 0.05 0.04
EEDLA TSR 10838 D) 0.05 0.05
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e E — INFRR 1898 Eh 0.034 0.035
R = /DR 1H10H BEh 0.030 0.033
e E = INFRR 1898 BBh 0.047 0.049
Rk 3 /DR 18128 BEh 0.064 0.068
e ANINET A 1H12H Eh 0.054 0.052
e E E/DFER 15108 BEh 0.038 0.041
BEE/DNFER 18108 Eh 0.043 0.044
L/ 1858 =Y 0.036 0.035
Em%g\]%;;a 1 JJ: 5H :fztj 0.041 0.039
EEBINFR 1898 =L 0.030 0.029
EREINER 1H128 Eh 0.036 0.037
B /DN ER 1H10H BEh 0.063 0.064
j ;g’%—ﬂf‘s‘z 18118 L0 0.059 0.057
Rk = i 1H4H BEh 0.049 0.053
i EERET N 1858 = 0.043 0.047
DRSS 1898 =Y 0.044 0.037
HE I 55 L R P A 1H12H EN 0.031 0.033
G5 1H4H BEh 0.053 0.059
Mils IR R 1H98 =h 0.04 0.04
Th AL 26 P R & B 18108 En 0.05 0.06
MilEhira R 18118 =h 0.04 0.04
AL 7k & B 1A5H =Y 0.06 0.06
UoBRER 1A5H =Y 0.04 0.04
RERE 1858 =V 0.06 0.08
BEERE 1A9H fiEn 0.05 0.06
" 1 uu% = 1858 :Zzt) 0.05 0.05
S e e Ty o5 oo
%qu@é% ’a 1 E 53 ia 0.05 0.05
SLRE 185 = 0.06 0.06
BRLESERFLL 1898 Bh 0.04 0.04
KIBPSLESE 1858 =Y 0.09 0.09
Zz)—Fx FEEKA 1H9H Eh 0.07 0.07
EENHEE 1898 BEh 0.07 0.06
s R 1H9H BEh 0.06 0.07
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EFEDH 189 = 0.04 0.05
XD OSHEE 1H5H =l 0.04 0.05
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100cm 5cm
e E — INFRR 4H3H8 Eh 0.034 0.033
R = /DR 48108 BEh 0.035 0.033
Rk 2 = 1N 483H Eh 0.048 0.051
eI 4A12H BEh 0.053 0.070
e ANINET A 4816H Eh 0.052 0.050
e E E/DFER 4H4H BEh 0.035 0.037
rﬁ}ﬁ Tu’a]/lfffx 4)71E 108 %} 0.040 0.042
AN 4858 =l 0.034 0.036
RIEINER 4828 s 0.036 0.041
EELINER 4H118 BEn 0.029 0.031
%E/j\:’?g 4 E 48 HEJ’L 0.037 0.043
INFRR 4898 Eh 0.062 0.055
TR E — PR 4898 BEn 0.060 0.054
Rk = i 4810H BEh 0.051 0.052
i EERET N 485H = 0.045 0.051
DRSS 4A12H BEh 0.045 0.040
RGN 484H BEhn 0.030 0.030
G5 4H3H BEh 0.055 0.057
Fig’% 51% 5;_ % 4Hﬁ 108 EEJ’L 0.04 0.04
miFNEEE 4848 £h 0.06 0.07
GO E Y] 48118 =l 0.04 0.04
AL 7k & B 484H En 0.06 0.05
Vo BRER 4848 BEn 0.05 0.04
RERE 4H48 BEh 0.06 0.07
ﬁ}ﬁ%uﬁ%%‘_ 4; 5H %U 0.05 0.05

] B 4848 Eh 0.05 0.06

L ADRRER RE 4548 B 0.05 0.05
B N\ANNTRERE 4H48 B 0.05 0.06
{FH DK EER 4848 BEhn 0.05 0.05
FEPSLEEE 484H BEn 0.06 0.06
BRLESERFLL 4858 =Y 0.04 0.04
== :éﬁrfot%ﬁ';” 4; 45 H%iLrJL 0.07 0.07
T')—FI %l A 485 = 0.07 0.08
EENHEE 4858 =V 0.06 0.07

: szgﬂﬁﬁﬂﬁ 4H5H =) 0.05 0.06

i E]i § E-EE,. BE%H ]% =
o 4 o T 4A85H £ 0.06 0.06
[TESTHHE 4A5H =0 0.04 0.05
ERHOI ISR 485H =Y 0.04 0.04
XD OSHEE 4848 iBh 0.06 0.05
FTEHER 485H =) 0.06 0.05
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100cm 5cm
; EE’E% — /i 7 ﬁﬁ 2H BEN 0.034 0.031
R = /DR 78118 BEh 0.041 0.044
R 58 = INFAL 7H5H = 0.049 0.048
eI 7A12H iEn 0.064 0.068
HRIREE 7NN 7H12H =) 0.047 0.055
T E RN 789H BEh 0.033 0.037
rﬁ}ﬁ Tu’a]/lfffx 7 JJ: 98 H%"JL 0.038 0.048
INFRR 7858 =l 0.038 0.038
RIEINER 7H2H Bh 0.029 0.031
EELINER 7828 BEn 0.029 0.033
%E@/j\;&fi 7828 HEJ’L 0.034 0.042
INFRR 78108 Eh 0.055 0.064
j ;g’% — IR 7 E 9H L0 0.060 0.055
Rk = i 783H BEh 0.049 0.052
i EERET N 7H48 = 0.043 0.050
Firdpk 36 1O B =P A 78118 BEh 0.046 0.040
RGN 7H11H BEhn 0.032 0.028
G5 782H BEh 0.053 0.056
Mils IR R 7H98 BEhn 0.04 0.04
Th AL 26 P R & B 78138 En 0.05 0.05
MilEhira R 7H9H8 =h 0.04 0.03
AL 7k & B 7H2H En 0.05 0.05
Vo BRER 7H2H BEn 0.04 0.04
RERE 7828 BEh 0.06 0.07
BEERE 783H Bh 0.05 0.04
BILEEE 7828 BEn 0.05 0.05
LHOREEE KIE 1H2H 51 0.06 0.06
BELN\FTNTHREH 7H28 iEh 0.05 0.05
{FH DK EER 7H2H BEhn 0.05 0.05
FEPSLEEE 7828 BEn 0.05 0.04
BRLESERFLL 7H3H BEhn 0.04 0.04
KIBPSLESE 7828 BEn 0.07 0.08
Zz)—Fx FEEKA 783H Eh 0.06 0.07
EENHEE 783H BEh 0.06 0.06
- R;vgﬁﬂéﬂj%{ﬁ_”: 7; 3H HEJ’L 0.05 0.06
En;, T KZEE 7H38 BEh 0.05 0.06
IS SHFER 7H3H En 0.04 0.05
ERDHOMNEHFEE 783H Eh 0.04 0.04
XOOHE 782H BEh 0.05 0.05
FIEFHE 7H3H En 0.05 0.05
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100cm 5cm
iRk = — INFRR 10828 Eh 0.032 0.031
TR E — IR 10H9H =Y 0.033 0.029
MR = INFAR 10H3H 51 0.048 0.048
Rk 3 /DR 108118 =Y 0.050 0.066
HRIREE 7NN 1054H =) 0.052 0.051
e E E/DFER 10H1H BEh 0.046 0.041
rﬁ}ﬁ Tu’a]/lfffx 10 JJ: 28 HE”L 0.040 0.046
AN 10H2H BEh 0.036 0.034
RIEINER 10818 BEh 0.036 0.034
%:F%J':ﬁjll\ﬁ-‘& 10; 4H :?ztj 0.035 0.040
EREINER 1083H =l 0.033 0.039
B /DN ER 10H9H iBh 0.061 0.066
R — PFR 1083H =Y 0.060 0.055
Rk = i 10H1H fiEh 0.049 0.048
i EERET N 108118 = 0.039 0.040
DRSS 108118 =Y 0.048 0.041
HE I 55 L R P A 1082H B 0.030 0.028
G5 1081H BEh 0.076 0.079
Mils IR R 10H9H BEhn 0.04 0.04
Th AL 26 P R & B 108128 =Y 0.05 0.06
GO E Y] 108118 =l 0.03 0.03
AL 7k & B 10838 =Y 0.06 0.06
Vo BRER 1083H =Y 0.04 0.04
RERE 10H3H =V 0.06 0.07
BEERE 1082H fiEn 0.05 0.05
- oiJ)i %{1%@& 10; 3H :fzbj 0.06 0.06
B g 10H3H8 =l 0.07 0.06
BEO AN JREE 105838 Z£Y 0.05 0.05
{FH DK EER 1083H =) 0.05 0.06
FEPSLEEE 10H3H =Y 0.05 0.05
BRLESERFLL 10828 Bh 0.04 0.04
KIBPSLESE 10548 =Y 0.09 0.09
Zz)—Fx FEEKA 10H2H Eh 0.06 0.07
EENHEE 10H2H BEh 0.06 0.06
AR YHE 10H2H BEh 0.06 0.07
BREZ PR AR 1052H B 0.06 0.05
IS SHFER 10828 BEhn 0.04 0.04
ERDHOMNEHFEE 10H2H Eh 0.05 0.04
XOOHE 10838 =) 0.06 0.05
FIEFHE 10H2H ENn 0.05 0.05
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T o8 — INFIR 1H4H ENn 0.035 0.033
7 Ei,i?z%:' \Efz 1 E 78 Hﬁn 0.036 0.034
HE = /NER 1878 Eh 0.044 0.048
Rk 3 /DR 15108 BEh 0.056 0.073
LT AN 53 1H10H Eh 0.051 0.052
e E E/DFER 1878 BEh 0.041 0.040
BEE/DNFER 1H8H Eh 0.046 0.050
WL/ 18108 =Y 0.037 0.037
RIEINER 1A78 s 0.035 0.035
EELINER 188H BEn 0.030 0.034
%E/j\:’?g 1 E 7H HEJ’L 0.033 0.032
INFRR 1H8H Eh 0.061 0.060
TR E — PR 1878 BEn 0.061 0.062
Rk = i 1H4H8 BEh 0.038 0.038
i EERET N 1H78 =h 0.048 0.051
Firdpk 36 1O B =P A 1H8H BEh 0.050 0.052
HE I 55 L R P A 1H78H B 0.025 0.028
G5 1878 BEh 0.081 0.079
Fig’% 51% 5;_ % 1 JE]JE 8H EEJ’L 0.04 0.04
miFNEEE 1H10H £h 0.05 0.06
MilEhira R 1H98 =h 0.04 0.04
AL 7k & B 1A78 En 0.06 0.05
Vo BRER 1878 BEn 0.04 0.04
RERE 1878 BEh 0.05 0.05
rﬁ}ﬁ%uﬁ%ﬁ*_ 1)%JE 108 %U 0.06 0.05
J B 1H78 Eh 0.05 0.05
LHOREEE KIE 1H7H En 0.07 0.06
BELN\FTNTHREH 1878 iEh 0.06 0.06
{FH DK EER 1A78 BEhn 0.05 0.05
FEPSLEEE 1878 BEn 0.05 0.05
BRLESERFLL 18108 =Y 0.04 0.04
KIBPSLESE 1878 BEh 0.08 0.09
7z!)—Fz fp&EE 1H10H = 0.07 0.07
= /%%;E 1; 108 :E-:;{ 0.07 0.07
a< 1H108 B 0.06 0.06
BREZ PR AR 1H10H =Y 0.06 0.05
FEDH 1810 = 0.05 0.04
XOOHE 1878 iBEh 0.05 0.05
FIEFHE 1H108 =l 0.05 0.04
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